BT TRIA O - HEHHEE X T 3Fﬁ£5€¢03ﬁ KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,265 86,961 41523 45438
RIRET1T 5 15 7 8
RIRET2T 25 56 26 30
RIRET3T 172 570 279 291
RIRET4T 391 977 482 495
B 593 1,618 794 824
REH 2,673 6,241 2,923 3,318
L&A 4213 9,567 4,521 5,046
5E 2,560 6,038 2,944 3,094
B AN 1,249 2,860 1,335 1,525
BERT 1,196 1,877 879 998
BER2T 654 1,288 621 667
BHERST 393 898 445 453
g 2,243 4,063 1,945 2,118
BARE 253 656 332 324
= 2,199 5276 2,490 2,786
hERE 626 1,468 675 793
aE 2,381 5,205 2,512 2,693
25 L ET 2,241 5,149 2,465 2,684
B &AL BT 76 163 66 97
HEFILET1T 571 1,234 578 656
HEFILET2T 615 1,378 653 725
HEZFILAT3T 601 1,414 693 721
g 1,863 4,189 1,990 2,199
B & it B Fr ET 684 1,662 800 862
BHEREBET1T 610 1,253 600 653
BHERERET2T 757 1,766 859 907
BHERERETST 757 1,653 750 903
HERERET4T 455 988 482 506
HEHFMHETST 808 1,666 797 869
HEHFHET6T 866 1,994 960 1,034
HEFRET7T 839 1,896 915 981
HERERETST 71 217 100 117
£t| 5163 11433 5,463 5,970
HEF R FET 1,824 3,964 1,929 2,035
S|EFET1T 568 1,527 761 766
S|EFET2T 769 1,844 876 968
S|EFET3 T 708 1,416 666 750
g 2,045 4,787 2,303 2,484
ERE1T 560 1,340 639 701
EIRET2T 385 1,012 503 509
EREIST 467 1,308 634 674
EIRETAT 690 1,543 709 834
EIZEIST 461 970 486 484
g 2,563 6,173 2,971 3,202
M EFHE 2,777 6,381 3,026 3,355
J\THET1T 32 36 13 23
J\THET2T 25 64 31 33
J\THEI3T 58 131 61 70
B 115 231 105 126
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